MATHS

NCERT - NCERT Maths(Telugu)

CO-ORDINATE GEOMETRY

1. The set of intelligent students in a class is

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_riyva6hRQOqZ

2. In a locality, there is a main road along
North-South direction. The map is given below.
With the help of the pic ture answer the
following questions. (Start from main road to
different street and head should be in east) :

What is there on the 3rd place on the left side


https://dl.doubtnut.com/l/_TSVrj5ULPOcW

in street no.
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o Watch Video Solution



https://dl.doubtnut.com/l/_TSVrj5ULPOcW

3. In a locality, there is a main road along
North-South direction. The map is given below.
With the help of the pic ture answer the
following questions. (Start from main road to
different street and head should be in east) :

Find the name of the 2nd house which is in


https://dl.doubtnut.com/l/_zWUjstEzpzTB

right side of street
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https://dl.doubtnut.com/l/_zWUjstEzpzTB

4. In a locality, there is a main road along
North-South direction. The map is given below.
With the help of the pic ture answer the
following questions. (Start from main road to

different street and head should be in east) :


https://dl.doubtnut.com/l/_PGOg61zL5kpP

Locate the position

of Mr.

K'S house.
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https://dl.doubtnut.com/l/_PGOg61zL5kpP

5. In a locality, there is a main road along
North-South direction. The map is given below.
With the help of the pic ture answer the
following questions. (Start from main road to

different street and head should be in east) :


https://dl.doubtnut.com/l/_r6qUsKCb9Qj3

How do you locate the position of the post
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https://dl.doubtnut.com/l/_r6qUsKCb9Qj3

6. In a locality, there is a main road along
North-South direction. The map is given below.
With the help of the pic ture answer the
following questions. (Start from main road to

different street and head should be in east) :


https://dl.doubtnut.com/l/_qmmmXmXnEUX5

you locate

the
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o Watch Video Solution



https://dl.doubtnut.com/l/_qmmmXmXnEUX5

7. Among the points given below some of the
poitns lie on X-axis. Identify them

(1) (0,5) (i) (0,0) (iii) (3,0)

(iv) (-5,0) (v) (-2,3) (vi) (-6,0)

(vii) (0,a) (viii) (b,0)

o Watch Video Solution

8. Among the points given below some of the

poitns lie on X-axis. Identify them

(1) (0,5) (ii) (0,0) (iii) (3,0)


https://dl.doubtnut.com/l/_O124qRXAbTaH
https://dl.doubtnut.com/l/_kdRUb6eFN9Og

(iv) (-5,0) (v) (-2,-3) (vi) (-6,0)

(vii) (0,a) (viii) (b,0)

° Watch Video Solution

9. Among the points given below some of the
poitns lie on X-axis. Identify them

(i) (0,5) (ii) (0,0) (iii) (3,0)

(iv) (-5,0) (v) (-2,-3) (vi) (-6,0)

(vii) (0,a) (viii) (b,0)

° Watch Video Solution



https://dl.doubtnut.com/l/_kdRUb6eFN9Og
https://dl.doubtnut.com/l/_24dKG3Rm6tG2
https://dl.doubtnut.com/l/_hMMt7FqqlBwM

10. Among the points given below some of the
poitns lie on X-axis. Identify them

(1) (0,5) (ii) (0,0) (iii) (3,0)

(iv) (-5,0) (v) (-2,-3) (vi) (-6,0)

(vii) (0,a) (viii) (b,0)

o Watch Video Solution

11. Among the points given below some of the

poitns lie on X-axis. Identify them

(1) (0,5) (ii) (0,0) (iii) (3,0)


https://dl.doubtnut.com/l/_hMMt7FqqlBwM
https://dl.doubtnut.com/l/_vZmeCmtbZTc9

(iv) (-5,0) (v) (-2,-3) (vi) (-6,0)

(vii) (0,a) (viii) (b,0)

° Watch Video Solution

12. Among the points given below some of the
poitns lie on X-axis. Identify them

(i) (0,5) (ii) (0,0) (iii) (3,0)

(iv) (-5,0) (v) (-2,-3) (vi) (-6,0)

(vii) (0,a) (viii) (b,0)

° Watch Video Solution



https://dl.doubtnut.com/l/_vZmeCmtbZTc9
https://dl.doubtnut.com/l/_4QRnYUUyq5Bc
https://dl.doubtnut.com/l/_EECNnlG8UVVh

13. Among the points given below some of the
poitns lie on X-axis. Identify them

(1) (0,5) (ii) (0,0) (iii) (3,0)

(iv) (-5,0) (v) (-2,-3) (vi) (-6,0)

(vii) (0,a) (viii) (b,0)

o Watch Video Solution

14. Among the points given below some of the

poitns lie on X-axis. Identify them

(1) (0,5) (ii) (0,0) (iii) (3,0)


https://dl.doubtnut.com/l/_EECNnlG8UVVh
https://dl.doubtnut.com/l/_ofi5DmDM4woi

(iv) (-5,0) (v) (-2,-3) (vi) (-6,0)

(vii) (0,a) (viii) (b,0)

° Watch Video Solution

15. Among the points given below some of the
poitns lie on X-axis. Identify them

(i) (0,5) (ii) (0,0) (iii) (3,0)

(iv) (-5,0) (v) (-2,-3) (vi) (-6,0)

(vii) (0,a) (viii) (b,0)

° Watch Video Solution



https://dl.doubtnut.com/l/_ofi5DmDM4woi
https://dl.doubtnut.com/l/_qUEOOxUE5UN0
https://dl.doubtnut.com/l/_Q1VE7mhCJiCj

16. Which axis the points such as (0,x) (O)y)

(0,2) and (0,-5) lie on? Why?

o Watch Video Solution

17. What is the general form of the points

which lie on X-axis?

° Watch Video Solution



https://dl.doubtnut.com/l/_Q1VE7mhCJiCj
https://dl.doubtnut.com/l/_6oJRpcpribWR

18. Which the quadrant in which of the
following points lie?
(i) (-2,3) (i) (5,-3) (iii) (4,2) (iv) (-7,-6)

(v) (0,8) (vi) (3,0) (vii) (-4,0) (viii) (0,-6)

o Watch Video Solution

19. Which the quadrant in which of the

following points lie?

(1) (-2,3) (i) (5,-3) (iii) (4,2) (iv) (-7,6)

(v) (0,8) (vi) (3,0) (vii) (-4,0) (viii) (0,-6)

| & I


https://dl.doubtnut.com/l/_4KPx90QIz56W
https://dl.doubtnut.com/l/_96lYfHLCrCfG

| ¥ Watch Video Solution |

20. Which the quadrant in which of the

following points lie?
(1) (-2,3) (ii) (5,-3) (iii) (4,2) (iv) (7,-6)

(v) (0,8) (vi) (3,0) (vii) (-4,0) (viii) (0,-6)

° Watch Video Solution

21. Which the quadrant in which of the

following points lie?


https://dl.doubtnut.com/l/_96lYfHLCrCfG
https://dl.doubtnut.com/l/_UhKrdwZz3LSN
https://dl.doubtnut.com/l/_rZi3o47Vq3Hi

(1) (-2,3) (ii) (5,-3) (iii) (4,2) (iv) (-7,-6)

(v) (0,8) (vi) (3,0) (vii) (-4,0) (viii) (0,-6)

° Watch Video Solution

22. Which the quadrant in which of the

following points lie?

(1) (-2,3) (ii) (5,-3) (iii) (4,2) (iv) (7,-6)

(v) (0,8) (vi) (3,0) (vii) (-4,0) (viii) (0,-6)

o Watch Video Solution



https://dl.doubtnut.com/l/_rZi3o47Vq3Hi
https://dl.doubtnut.com/l/_xqt2kb02pBsb

23. Which the quadrant in which of the

following points lie?

(1) (-2,3) (i) (5,-3) (i) (4,2) (iv) (-7,-6)

(v) (0,8) (vi) (3,0) (vii) (-4,0) (viii) (0,-6)

o Watch Video Solution

24. Which the quadrant in which of the
following points lie?
(i) (-2,3) (i) (5,-3) (iii) (4,2) (iv) (-7,-6)

(v) (0,8) (vi) (3,0) (vii) (-4,0) (viii) (0,-6)

| & I


https://dl.doubtnut.com/l/_6WvYBQa9hHoU
https://dl.doubtnut.com/l/_VFLJjdllqaEW

| ¥ Watch Video Solution |

25. Which the quadrant in which of the

following points lie?

(i) (-2,3) (ii) (5,-3) (iii) (4,2) (iv) (-7,6)

(v) (0,8) (vi) (3,0) (vii) (-4,0) (viii) (0,-6)

o Watch Video Solution

26. Write the abscissae and ordinates of the

following points.

(i) (4,8) (ii) (-5,3) (iii) (0,0) (iv) (5,0) (v) (0,-8)


https://dl.doubtnut.com/l/_VFLJjdllqaEW
https://dl.doubtnut.com/l/_OSA6v4qemXrr
https://dl.doubtnut.com/l/_vPBzTNAgb95D

° Watch Video Solution

27. Write the abscissae and ordinates of the

following points.

(i) (4,8) (i) (-5,3) (iii) (0,0) (iv) (5,0) (v) (0,-8)

° Watch Video Solution

28. Write the abscissae and ordinates of the

following points.

(i) (4,8) (ii) (-5,3) (iii) (0,0) (iv) (5,0) (v) (0,-8)

| e |


https://dl.doubtnut.com/l/_vPBzTNAgb95D
https://dl.doubtnut.com/l/_O3bMu10JYcet
https://dl.doubtnut.com/l/_K4Qj1j13ubMb

& watch Video Solution I

29. Write the abscissae and ordinates of the

following points.

(i) (4,8) (ii) (-5,3) (iii) (0,0) (iv) (5,0) (v) (0,-8)

° Watch Video Solution

30. Write the abscissae and ordinates of the

following points.

(i) (4,8) (ii) (-5,3) (iii) (0,0) (iv) (5,0) (v) (0,-8)

l ° Watch Video Solution


https://dl.doubtnut.com/l/_K4Qj1j13ubMb
https://dl.doubtnut.com/l/_ANexDy0nOjCp
https://dl.doubtnut.com/l/_vhMM3BPmaYrG

31. Which of the following points lie on the
axes? Also name the axis
(i) (-5,-8) (ii) (0,13) (iii) (4,-2) (iv) (-2,0)

(v) (0,-8) (vi) (7,0) (vii) (0,0)

° Watch Video Solution

32. Which of the following points lie on the

axes? Also name the axis


https://dl.doubtnut.com/l/_vhMM3BPmaYrG
https://dl.doubtnut.com/l/_irWj4VbgF0oN
https://dl.doubtnut.com/l/_HVEtV36k4s8W

(1) (-5,-8) (ii) (0,13) (iii) (4,-2) (iv) (-2,0)

(v) (0,-8) (vi) (7,0) (vii) (0,0)

° Watch Video Solution

33. Which of the following points lie on the
axes? Also name the axis
(i) (-5,-8) (ii) (0,13) (iii) (4,-2) (iv) (-2,0)

(v) (0,-8) (vi) (7,0) (vii) (0,0)

o Watch Video Solution



https://dl.doubtnut.com/l/_HVEtV36k4s8W
https://dl.doubtnut.com/l/_QJ8C9jStzBGM

34. Which of the following points lie on the
axes? Also name the axis
(i) (-5,-8) (ii) (0,13) (iii) (4,-2) (iv) (-2,0)

(v) (0,-8) (vi) (7,0) (vii) (0,0)

o Watch Video Solution

35. Which of the following points lie on the
axes? Also name the axis
(i) (-5,-8) (ii) (0,13) (iii) (4,-2) (iv) (-2,0)

(v) (0,-8) (vi) (7,0) (vii) (0,0)

| & I


https://dl.doubtnut.com/l/_qGAmvymZC7Td
https://dl.doubtnut.com/l/_0isRzjzd3ioB

| ¥ Watch Video Solution |

36. Which of the following points lie on the
axes? Also name the axis
(i) (-5,-8) (ii) (0,13) (iii) (4,-2) (iv) (-2,0)

(v) (0,-8) (vi) (7,0) (vii) (0,0)

° Watch Video Solution

37. Which of the following points lie on the

axes? Also name the axis


https://dl.doubtnut.com/l/_0isRzjzd3ioB
https://dl.doubtnut.com/l/_DOeWg9KDhGqa
https://dl.doubtnut.com/l/_4lLh1G7F06bN

(1) (-5,-8) (ii) (0,13) (iii) (4,-2) (iv) (-2,0)

(v) (0,-8) (vi) (7,0) (vii) (0,0)

° Watch Video Solution

38. Write the following based on the graph :

The ordinate of


https://dl.doubtnut.com/l/_4lLh1G7F06bN
https://dl.doubtnut.com/l/_qvHEFRs1IIXd
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o Watch Video Solution



https://dl.doubtnut.com/l/_qvHEFRs1IIXd

39. Write the following based on the graph :

The ordinate of 0.
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o Watch Video Solution



https://dl.doubtnut.com/l/_15vEdXBj58TB

40. Write the following based on the graph :

The point denoted by (-2,-2).
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o Watch Video Solution



https://dl.doubtnut.com/l/_j2hG5T3oqMBe

41. Write the following based on the graph :

The point denoted by (5, -4).
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o Watch Video Solution



https://dl.doubtnut.com/l/_CyRvlKlDGKwV

42. Write the following based on the graph :

The abscissa of N.
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https://dl.doubtnut.com/l/_TvgMmlMjdZ72

43. Write the following based on the graph

‘The abscissa of M.
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o Watch Video Solution



https://dl.doubtnut.com/l/_4qzvVB4YUvul

44, State True or False, if 'false' write correct
statement.
In the Cartesian plane the horizontal line is

called Y-axis.

o Watch Video Solution

45, State True or False, if 'false' write correct
statement.
In the Cartesian plane the vertical line is called

Y-axis.

| & I


https://dl.doubtnut.com/l/_V1BJAvgwzzPv
https://dl.doubtnut.com/l/_ESFXDyZmcvZc

| ¥ Watch Video Solution |

46. State True or False, if 'false' write correct
statement.
The point which lies on both the axes is called

origin.

° Watch Video Solution

47. State True or False, if 'false' write correct
statement.

The point (2,-3) lies in the third quadrant.


https://dl.doubtnut.com/l/_ESFXDyZmcvZc
https://dl.doubtnut.com/l/_yBvJPwZn3i8s
https://dl.doubtnut.com/l/_bm8IddR2f4Od

° Watch Video Solution

48. State whether the following statements
are true or false. Justify your answer.

S={5,6,7} implies 8 & S.

° Watch Video Solution

49, State True or False, if 'false' write correct

statement.


https://dl.doubtnut.com/l/_bm8IddR2f4Od
https://dl.doubtnut.com/l/_tgjFdfWBdUNt
https://dl.doubtnut.com/l/_cTjh46qu7S6j

The point (-x,-y) lies in the first quadrant where

x <0,y <0.

° Watch Video Solution

50. Plot the following ordered pairs on a graph
sheet. What do you observe?
(I) (1’0)9 (3,0), (-290), (-5’0)9 (0’0)9 (5’0)7 (-690)

(i1) (0,1),(0,3),(0,-2),(0,-5),(0,0),(0,5),(0,-6)

o Watch Video Solution



https://dl.doubtnut.com/l/_cTjh46qu7S6j
https://dl.doubtnut.com/l/_JdVqkPwiKmwX

51. Plot the following ordered pairs on a graph
sheet. What do you observe?
(I) (190)’ (3’0)’ (-2’0), (_5’0)’ (O’O)’ (5,0), (-6’0)

(i1) (0,1),(0,3),(0,-2),(0,-5),(0,0),(0,5),(0,6)

° Watch Video Solution

52. The point A(5,1), B(7,4,7), C(1,-6,10),

D(-1,-3,4) form

o Watch Video Solution



https://dl.doubtnut.com/l/_1qP0pWASjPtV
https://dl.doubtnut.com/l/_3N46pXt5cVe5
https://dl.doubtnut.com/l/_JS0CoBp6IQn7

53. Plot the following points on a Cartesian
plane

(1) B(-2,3) (ii) L(5,-8) (iii) U(6,4) (iv) E(-3,-3)

o Watch Video Solution

54. Plot the following points on a Cartesian
plane

(1) B(-2,3) (ii) L(5,-8) (iii) U(6,4) (iv) E(-3,-3)

o Watch Video Solution



https://dl.doubtnut.com/l/_JS0CoBp6IQn7
https://dl.doubtnut.com/l/_E8JjubZDuJWd
https://dl.doubtnut.com/l/_cB0Xmfrv71B2

55. Plot the following points on a Cartesian
plane

(1) B(-2,3) (ii) L(5,-8) (iii) U(6,4) (iv) E(-3,-3)

o Watch Video Solution

56. Plot the following points on a Cartesian
plane

(1) B(-2,3) (ii) L(5,-8) (iii) U(6,4) (iv) E(-3,-3)

o Watch Video Solution



https://dl.doubtnut.com/l/_cB0Xmfrv71B2
https://dl.doubtnut.com/l/_qD4u8uh8Jndq

57. Write the co-ordinates of the points A. B, C,
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° Watch Video Solution



https://dl.doubtnut.com/l/_JHah6OdgjTks

58. Write the co-ordinates of F, G, H, I, J.
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° Watch Video Solution



https://dl.doubtnut.com/l/_k2qQ6daraW7L

59. Plot the following in the Cartisian plane

whose  xy  co-ordinates are  given

x o 3 | 0 -9
y _ = 4 11 0

& &

x ¥

° Watch Video Solution

60. Plot atleast 10 points in graph sheet, each
having the sum of its co-ordinates equal to 8.

What do you observe ?

° Watch Video Solution



https://dl.doubtnut.com/l/_4UJQV6h18dYc
https://dl.doubtnut.com/l/_4pyz1omSbGJI

61. Are the positions of (5-8) and (-8,5) is

same? Justify your answer.

° Watch Video Solution

62. What can you say about the position of the
points (1,2), (1,3), (1,-4), (1,0) and (1,8). Locate on

a graph sheet.

° Watch Video Solution



https://dl.doubtnut.com/l/_1W7aXGJu2hwh
https://dl.doubtnut.com/l/_GECbqxDNmVKb

63. Verify whether the following points are

collinear or not.

(1,-6),(3,-4),(4,-3).

o Watch Video Solution

64. What can you say about the position of the
POintS (5’4) (8,4) (3’4)’ (0’4)9 (-4’4)’ (-2’4)?
Locate the points on a graph sheet. Justify

your answer.

° Watch Video Solution



https://dl.doubtnut.com/l/_ejYpghxbl3lR
https://dl.doubtnut.com/l/_zQX29qpjysjG

65. The area of the quadrilateral formed by the

points (1, 2), (2,-3), (-2, 4), (0, 5) is

o Watch Video Solution

66. Plot the points (0,0), (0,3), (4,3), (4,0) in
graph sheet. Join the points with straight lines
to make a rectangle. Find the area of the

rectangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_zQX29qpjysjG
https://dl.doubtnut.com/l/_sCXvnKof0q0s
https://dl.doubtnut.com/l/_SUORkAbydRth

67. Plot the points A(2,2) B(6,2), C(8,5) and
D(4,5) in a graph sheet. Join all the points to

make it is a parallalogram. Find its area.

o Watch Video Solution

68. Plot the points (2,3), (6,3) and (4,7) in a
graphsheet. Join them to make it a triangle.

Find the area of the triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_MuuJKRdsnofn
https://dl.doubtnut.com/l/_zvWP4Wg4qmN8
https://dl.doubtnut.com/l/_dClk4IEsjedr

69. Plot the points A(2,2) B(6,2), C(8,5) and
D(4,5) in a graph sheet. Join all the points to

make it is a parallalogram. Find its area.

o Watch Video Solution

70. Plot at least six points in a graph sheet,
each having the sum of its coordinates equal

to 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_dClk4IEsjedr
https://dl.doubtnut.com/l/_ionjPqMZE8NL
https://dl.doubtnut.com/l/_oEaHmomTCNYq

71. Look at the graph. Write the co-ordinates

of the points A,B,C, D, E, F, G, H, |, J, K, L, M, N, P,
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o Watch Video Solution



https://dl.doubtnut.com/l/_oEaHmomTCNYq

72.1n a graph Sheet Plot each pair of points,
join them by line segments

() (25), @47) (i) (—3,5),(—1,7) (i)
(=3, —4),(2, —4) (iv)
(=3, —5),(2, =5 (v (4, —2),(4, —3)
i) (—2,4), (—2,3) (i) (—2,1),(—2,0)
Now join the following pairs of points by
straight line segments, in the same graph.
i) ( — 3,5), ( — 3,4) (ix) (2,5), (2, — 4) (x)
(2, —4), (4, — 2) i) (2, —4), (4, — 3) (xii)

(4, —2),(4,7) i) (4,7),(—1,7) (xiv)


https://dl.doubtnut.com/l/_bsU8SxyZEGcf

(—3,2),(2,2)

Now you will get a surprise figure. What is it?

° Watch Video Solution

73. Plot each pair of points, join them by
straight line segments: (-2, 1), (2, 1),(-2, 1), (-4,
0), (4, 0), (2, 1), (4, 0), (2, 3),(2, 1), (2, 3),(2, 3), (-2,

3)(2, 3), (-2, 3),(-2, 3), (-4, 0),(-2, 1), (-2, 3).

o Watch Video Solution



https://dl.doubtnut.com/l/_bsU8SxyZEGcf
https://dl.doubtnut.com/l/_NjMsAg3vrdn3

74. Find the value of tanA+cosA where

A=30degrees.

o Watch Video Solution

75. Find the equation of a curve whoise

d
J = J_ coszg, where

radient s —
5 dzx T T

x > 0,y > 0 and which passes through the
int (1, 7)
point {1, =) .

A. Qq

B. ()2


https://dl.doubtnut.com/l/_DqVic8AJWClo
https://dl.doubtnut.com/l/_nOnsj3UWblyc

D. Q4

Answer:

° Watch Video Solution

76. Which of the following are parallel lines?

-1;_;\f h]%
r:}>< d) Noae



https://dl.doubtnut.com/l/_nOnsj3UWblyc
https://dl.doubtnut.com/l/_t2gmUb8WJgeb

Answer:

° Watch Video Solution

77. Co-ordinates of the origin

A. (0, 2)


https://dl.doubtnut.com/l/_t2gmUb8WJgeb
https://dl.doubtnut.com/l/_GWmpinqDt1RG

B. (3,0)

C.(0,0)

D. (1,1)

Answer:

o Watch Video Solution

78.The lines x=2,y=3 are___ to each other.

A. Parallel

B. Perpendicular


https://dl.doubtnut.com/l/_GWmpinqDt1RG
https://dl.doubtnut.com/l/_HlE54LVyX0Lv

C. Coinciding

D. None

Answer:

° Watch Video Solution

79. The equation parallel to y-axis.

A y=-3

B.x=-3

Cx+y=1


https://dl.doubtnut.com/l/_HlE54LVyX0Lv
https://dl.doubtnut.com/l/_fl8xjWNbtu72

Answer:

o Watch Video Solution

80. What is the general form of the points

which lie on X-axis ? Write any four points lie

on X-axis.

A.(3,4)

B.(2,0)


https://dl.doubtnut.com/l/_fl8xjWNbtu72
https://dl.doubtnut.com/l/_gF4FBLCPgvXs

C.-05

D. (-2,-1)

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_gF4FBLCPgvXs

81. In the adjacent figure, the line represents

II'I."'.

» X

D. x-y-1


https://dl.doubtnut.com/l/_Y8DfFObnsfyw

Answer:

o Watch Video Solution

82. The figure formed by joining the points(1,

1),(1,3),(3,1),(3,3) is

A. Rectangle

B. Square

C. Parallelogram

D. Trapezium


https://dl.doubtnut.com/l/_Y8DfFObnsfyw
https://dl.doubtnut.com/l/_II0rKCxDBJvP

Answer:

o Watch Video Solution

83. Area of the triangle formed with the points

(0, 0),(2,0) and (0, 3) on graph

A. 6sg. units

B. 2sqg. units

C. 3sqg. units

D. 12sg. units


https://dl.doubtnut.com/l/_II0rKCxDBJvP
https://dl.doubtnut.com/l/_uZVthQ58HAUw

Answer:

o Watch Video Solution

84. Which of the following points does not lie
on the straight line x +y =7 ? (-2,9),(-3,-4),(5,-2),

(0,7)

C.(5,2)

D. (0, 7)


https://dl.doubtnut.com/l/_uZVthQ58HAUw
https://dl.doubtnut.com/l/_bUie6FuWV7Go

Answer:

o Watch Video Solution

85. Fill in the Blanks :Co-ordinate geometry is

developed by .

° Watch Video Solution

86. Fill in the Blanks :The point of intersection

of co-ordinate axes is__ .

| 8 l


https://dl.doubtnut.com/l/_bUie6FuWV7Go
https://dl.doubtnut.com/l/_TMQwRFCy6DBC
https://dl.doubtnut.com/l/_qvBIpcpmi43j

87. Fill in the Blanks : If (x +y, 1)=(5, x-y) then

X=

° Watch Video Solution

88. equation of X - axis is .......

° Watch Video Solution



https://dl.doubtnut.com/l/_qvBIpcpmi43j
https://dl.doubtnut.com/l/_oUvZmlgOlfGr
https://dl.doubtnut.com/l/_EfwSmIUldPOH

89. Fill in the Blanks :Every point in a plane has

its position

o Watch Video Solution

90. What is the general form of the points

which lie on X-axis?

o Watch Video Solution



https://dl.doubtnut.com/l/_KpQqSiDy9v3b
https://dl.doubtnut.com/l/_lDw31wgSEmUZ

91.Fill in the Blanks : If £ < 0 and y < 0, then

point (x,y) lies in___quadrant.

o Watch Video Solution

92. Fill in the Blanks : A line y= - 4 is at a

distance of units from x-axis.

o Watch Video Solution

93. Fill in the Blanks : If (x,y) = (y, x) then



https://dl.doubtnut.com/l/_gFVx2JIkUznL
https://dl.doubtnut.com/l/_HPgF4hEujoJ4
https://dl.doubtnut.com/l/_UBLvY4xomsui

o Watch Video Solution

94. Fill in the Blanks : The plane is called the
Cartesian plane named after  the

mathematician

o Watch Video Solution

95. Which of the following points lie on the

axes?Also name them? : (4,-5), (3, 0), (-4, 0). (-1,


https://dl.doubtnut.com/l/_UBLvY4xomsui
https://dl.doubtnut.com/l/_JJvdGWO5ai4F
https://dl.doubtnut.com/l/_PWWXVpEEeWrf

-3) (-2, 3), (-2.5, 0).(0, -4), (2, 3), (O, -3.5) , (-3, 0),

(0, -5), (3.5, 2.5).

° Watch Video Solution

96. Plot the orderd pairs A(O, 1), B(12, 1). C(10,7),
D(3, 7). What kind of figure is formed ?Find Its

area?

° Watch Video Solution



https://dl.doubtnut.com/l/_PWWXVpEEeWrf
https://dl.doubtnut.com/l/_wGjuEpa3v7uh

97. Locate the points on a graph and what do
YOU infer? (3’ 2)9 (3’ 3)’ (3’ -1)9 (3’ 5)’ (3’ -4)’ (3’6)’

(3,1),(3,4),(3,-2), (3,3).(3, 0)

o Watch Video Solution

98. Locate the points (0, 0), (1, 1), (2, 2), (3, 3)
(4.4), (-1, -1), (-2,-2), (-3, -3), (-4,-4) and what is

your observation?

o Watch Video Solution



https://dl.doubtnut.com/l/_KMJgz8HlZwhh
https://dl.doubtnut.com/l/_aiebzoDRrNd2
https://dl.doubtnut.com/l/_vjzFggLFS19m

99. Plot the points on a graph sheet. (1, 4), (2,
1), (6, 1). (5. 4). What is the figure formed ? Find

Its area.

o Watch Video Solution



https://dl.doubtnut.com/l/_vjzFggLFS19m

